

Fes els següents càlculs a la llibreta i anota el resultat:

a) $[(3 - 5) + 4] \cdot 2 =$

b) $3 - 5 + 4 \cdot 2 =$

c) $3 - [(5 + 4) \cdot 2] =$

d) $-4 \cdot (3 + 2 - 6 - 1 + 2) : 2 =$

e) $-4 \cdot 3 + 2 - 6 - 1 + 2 : 2 =$

f) $[4 - 2 - 6 - 8 - (-4) - (-2) + (-6)] - (-4 - 5) =$

g) $25 + 6 \cdot (16 - 18) + 9 \cdot 8 =$

h) $25 + 6 \cdot 16 - 18 + 9 \cdot 8 =$

i) $3 \cdot 6 \cdot (-2) + 54 - (3 \cdot 3 + 2) =$

j) $45 - 98 + [56 : (-8)] - (12 \cdot 2 + 7) =$

k) $-64 : 8 - 9 + (2 \cdot 3 + 1) \cdot (-2) + 35 =$

l) $5 + (-42 : 7) + 18 - (4 \cdot 5) + 6 =$

m) $9 - 5 \cdot 8 + (54 : 6 - 5) + 3 - 12 =$

n) $(89 - 8) : 9 \cdot (40 : 8) + 31 =$

o) $(10 : 2 + 41) - (17 \cdot 3 - 32) =$

p) $3 \cdot (28 + 16 : 8) =$

q) $3 \cdot 28 + 16 : 8 =$

r) $12 \cdot 3 + 20 - 21 : 3 + 16 =$

s) $(15 + 7 \cdot 4) - (27 - 20 : 4) =$